Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

2.0

15

1.0

0.5

0.0

-0.5

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

SLX1744-300-JEMX2-MJID52874.837667_lc.txt / MJID 52874.837673 / burstid=4347

E Grey line: exponential fit Peak flux: 1.880+/- 0.424 c/s/cm® E
= Black [ine: power law + gauss it Fyence : 13.79+/- 3.13 c/em?’ -
- Dashed line: power law i _
- Duration: 20.92+/- 5.07 s .
— Best fit model: 1. -
C Best fluence model: 1. ]
- | Best duration model: 1. -
- | i
= 1 | e
- b Nt e
— H‘ JWHUUM M[ L H} WJ}I J}H}WHHW | MW JH JHHH\« MH\HMM I JM_
L I A R LR
; Exponential fit é
= Expon.time: 6.95+/- 1.62s (chi*red= 1.06) =
ST i Bt R b bt bl
= e H%Wﬁﬁ *ﬁﬁﬂﬁwﬁﬂwﬁﬁ%*ﬂjfﬂ ﬂﬂjwfﬁﬂWﬁ+ﬂﬁﬁﬁ+ﬁHWWHjﬂﬂHﬁ**ﬂ*THﬂﬂﬁﬁ#ﬁ*ﬂw WﬂWﬂﬂﬁﬂ*Hﬁﬁ}ﬂ#jﬁﬁ il
= f =
= Power law fit E
= Power law index: -1.301+/- 0.214 (chi*-red= 1.06) =
- Lottt ik ittt bt B it 0 st + b bt bt Bl b
= M i Wﬁﬁ*ﬂwﬂHﬂ [ #ﬁﬁ*wﬁﬁ ww+ﬁﬁmﬂ+W WﬂwWﬂw wHﬂWwwwTHﬁwﬂ#ﬁwﬁﬁ WﬂHﬂ*ﬁwWWm@
= } =
i T T T T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 47.87+/-49.50 s, fracgs= 0.08+/- 0.06) =
- Power law index: -1.342+/- 0.041 (chi*-red= 1.07) 7
SRR bt B b B bt byt
= ‘ﬂm WWW MWMﬁ%HW Wﬁwﬁﬁ WwWWW mwfﬁﬂwwwHﬁw%WHmm+++H+*Wﬂ#ﬁﬂw W**+*+++**+*ﬂ“+*“ﬁ;1MMﬁr@
= | =
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E
0 100 200 300

Time [s]



